1 Sl O RA

K E B BEMOPERORERCICERRR | G ISR 2
() —1 %\“ffgfﬁq;ﬁ 38590 MHPH1 32, 800 31,800 A 3.0
L () —2 EHEFAKT 15 2%1 52, 500 52,400 A 0.2
L () —3 B HATER IR 5 2% 4 64, 200 64, 200 0.0
TR —4 V) IR AR 1 54 0%2 0 56, 400 56,000 A 0.7
() —5 WHERT2 3 3% 3 0 79, 300 78,400 A 1.1
LR —6 AR ATAL T 8 9 07 2 12, 300 12,100 A 1.6
wr () —7 ?ﬁi‘ffzgf 68%34 [MHHM6 69, 200 69,000 A 0.3
TR —8 f%gi;ﬁ 2653%14 NER 47,800 47,000 A 1.7
() —9 FMHET1 243%2 14 68, 900 68, 900 0.0
L) —10 %?TETEJZ 191%6 [EJyARS 58, 100 58,000 A 0.2
TR —11 ﬂf?TfTE L6 HRIART — 1 75, 000 75, 000 0.0
L) —12 %?%7533 TR 258 THHms - 50, 000 49, 500 1.0
Ay (B)  —13 PE)IEERT LI 3 2 8 0F 1 8 57, 400 56, 900 0.9
T () —14 HIERT 7 7 0% 67, 500 67, 500 0.0
T () —16 FEAMTFHRZE47 1516 62, 000 62, 000 0.0
T () —16 HEHETFEK 1 8 3 9% 6 4F 46, 600 46,200 A 0.9
T () —17 JIRMEFITF 7 3347 51, 000 50,500 A 1.0
T () —18 FHEEITFE 1 20 6 %9 62, 500 61,000 A 2.4
T (R) —19 %%WEWMEW%’E% 1135%1 23, 500 22,900 @ A 2.6
L (B —20 FERATR AR T RA 19 2% 11, 200 11, 200 0.0
T () —21 B S ETERE S NS 6 8 21, 500 21,000 A 2.3
T () —22 EARET RS 154 93 12, 500 12,400 = A 0.8
T () —23 RIS 5 3 8% 3 54+ 10, 000 9,900 A 1.0
T () —24 HARETINE 1 1 4 5%8 16, 700 16,500 = A 1.2
T () —25 ERBIITEXH1 7 3 233 15, 900 15,500 A 2.5
T () —26 FRBIHTHEIH 6 6 57 2 10, 400 10,300 = A 1.0
T () —27 EREARTILH 2 8 0% 8, 500 8,400 A 1.2
AT () —28 NERTHER 2 0 1% 23, 400 23,200 A 0.9
T () —29 J\ERTRERF 7 4 6 % 4 4+ 11, 600 11,500 = A 0.9




B E B BEMORERORERCI RS | G ISR S
R () —30 NEMMHEHE156%1 4 33, 300 32,800 A 1.5
AT (B)  —31 ELATEGHTS 4 3% 2 3 40, 500 39,500 A 2.5
Rir () —32 ELGATGHT 1 7 1352 46, 200 46, 200 0.0
T () —33 RERTHA215%&2 19, 400 19, 000 2.1
T () —34 RIEMTHRKFEF9 9472 4 20, 300 19, 400 4.4
kT () —35 HHERHHERF A8 1 4% 3 24+ 32, 000 32, 000 0.0
T () —36 RHETHERFEER4 1 1% 1 35, 400 35,300 A 0.3
ki () —37 PEIEVEFERT A XA H T4 9 6% 3 30, 900 30,300 A 1.9
T () —38 FUSHHT 8 37 7 8 35, 500 34,200 A 3.7
T () —39 AR T 1 9% 19, 200 19,100 = A 0.5
T () —40 gfé\zjﬁfj 52&32 [5CnIH 50, 100 50,000 A 0.2
AT (B) —41 EGHTARE 5 1% 11, 700 11,600 A 0.9
T () 3 —1 FEATFERE 48 63%F 1 24, 100 23,800 A 1.2
AT (JR) 3 — 2 VIRETER 2 0 7 2 %4 15, 100 14,900 A 1.3
T () 3 —3 ELGRTGHT3 9 73/ 1 17, 800 17,300 = A 2.8
AT () 5 — 1 TRET2 6% 1 82, 100 80,500 A 1.9
AL (B) 5 — 2 JBmT 3 8 % 1 110, 000 107,000 A 2.7
AT (JR) 5 —3 IR 1 0% 4 NEET 15— 14 63, 500 61,500 A 3.1
T () 5 — 4 HIART VT 4 8 7/ 1 744+ 106, 000 105,000 A 0.9
YL () 5 —5 ?JZTEM)Z% FR2-29- 112, 000 111,000 A 0.9
T () 5 —6 I HEIFHEVE 4 7 03 14+ 114, 000 113,000 A 0.9
AL (W) 5 —7 EHEITFT /R4 25%&7 112, 000 111,000 A 0.9
AL (B) 5 — 8 WNHEHRT 3 7 % 90, 500 88,100 = A 2.7
AT (B) 5 —9 B SETE AT\ 2 2 9% 34 28, 100 27,500 A 2.1
AL (B) 5 —10 EARATIIE 6 1 2 % 20, 200 19,500 = A 3.5
AT (W) 5 —11 EIRBIHTELREI 6 5 1 &St 30, 500 29,500 A 3.3
AT () 5 —12 KGR 7 4 2% 544 58, 500 56,500 A 3.4
FAVE (W) 5 —13 FOERTIERNL 2 6 7 36, 000 34,600 A 3.9
AT () 5 —14 RHEMERETHR, E1205%1 41, 500 41, 500 0.0
AT () 9 — 1 \EHT= R +F449 5 3% 1 7 17,100 17, 000 0.6
AT () 9 — 2 B ST AT 6 0 13 5 7 4% 18, 800 18, 500 1.6




QTR LR VEAM

284F FEAR VEA

LB

AWM F T BEMOPHER CHIEE NIRRT F o) | (F ) (%)
AL (B) 9 — 3 JUHRBTVLEFHhii 1 1 2 8% 5 44+ 9, 800 9,700 A 1.
AT (W) 9 — 4 FOERTE 2 A0 7 53 15k 10, 200 9,800 A 3.
T (B 9 — 5 FHEMMERTRH2 7 3 0% 14+ 15, 600 15,300 A 1
AT () 9 —6 HEHETFEI T 2 6 2% 14+ 39, 800 39,200 A 1.
FEH —1 TCHTEAT 2 371 1 52, 200 51,700 A 1.
FER) —2 AT 6 3 6% 3 2 30, 200 29,700 A 1.
El (R —3 FRAT701% 1 4 36, 100 35,800 A 0.
FER) —4 HJIMT4105%1 53, 500 53,300 A 0.4
EHUR) —5 JAARTA 4 2 23 26, 300 25,800 | A 1.
EHOR) —6 ZFEET =7 5 4% 3 17, 400 17,200 | A 1
EH ) —7 &R E4N5 6 8% 5 6 16, 200 15,900 A 1.
EH () —8 BIRET A8 2 8 % 10, 300 10,200 A 1.
O —9 JERTA 155 0% 1 9, 200 9,100 A 1.
el (R —10 “HERT=M1417%10 25, 300 24,600 A 2.
El R —11 JERTKH 2 1 9% 9 5, 100 5,000 A 2.
HeE ) —12 INRHTR LA 5 5 5% 3 3, 700 3,600 A 2.
EHE ) —13 INRRTAHEA 58 97 9 — 3,600 ERE
FHO) 5 —1 JBHT 8 4% 3 74, 200 72,300 A 2.
e () 5 —2 WA 3 8 FAh 50, 700 49,500 | A 2.4
HeH () 5—3 BT ORI L 54 1361 15, 100 14,800 A 2.
HEH () 5 —4 JERTA 16 0 2% 10 11, 500 11,300 A 1.
L) 5-5 “FEET=FE1 31 1 & 14 33, 700 33,200 A1
FEHOL) 9—1 THHET327#%100 14, 800 14,600 A 1.4
el () 9 — 2 RT3 05 0% 3 64+ 14, 700 14,500 @ A 1.4
HEG) —1 HEM A T F38E 3 % 7 46 43,700 43,000 A 1.
HEG) —2 W HERT6 TH6 7% 40, 900 40,700 | A 0.
HEG) —3 FAgE FHETFHF 9 5% 4 33, 800 33,100 A 2.
HEG) —4 HEFET7 0 1% 3 0 37, 500 37,100 A 1.
HEW) —5 '%j;%ﬂgf TH1O0%3 MEXHEAT 2 36, 400 36, 400 0.
HEUW) —6 RERTTHA2558%1 8 32, 000 31, 000 3.
HEG) —7 HEITFEFE2 2 2 3%3 24, 600 24, 400 0.




B E B BEMORERORERCI RS | G ISR S
HEGM) —38 ATHRTIEART4 TH3% 1 5 49, 800 47,700 A 4.2
HEM) —9 HERT8 9 1%6 27, 500 27,200 A 1.1
HEG)  —10 THITFRAE27 8 5%5 30, 600 30,300 A 1.0
HEGH —1 HARET 05 /N1 8 8 2% 5 19, 000 18,900 A 0.5
HEG) —12 PEEHAT 1 7 0% 34, 400 34,100 A 0.9
HEGR) —13 T-HET AR S 5 13 27, 500 27,100 A 1.5
HEG) —14 WeoymF— /814 0 7F2 26, 700 26,500 A 0.7
HEG) —156 PEWRBTZEETHE M 7 4 1% 44+ 5, 200 5,100 A 1.9
HEUW) —16 PEHET —ZEHFHEH 2 1 2 538 14+ 3, 700 3,650 A 1.4
HEG)  —17 RALETHFEE AT 2 4 3 3% 22, 400 22,300 A 0.4
HEG) —18 LM O HES 4 9% 2 044 8, 600 8,550 A 0.6
HEGD —19 ZAEHT AN 1 35 2% 4 8, 600 8,550 A 0.6
HEG)  —20 ZERT/NH1 5 0% 1 7 8, 800 8,700 A 1.1
HEG) —21 THEERT =31 27 1% 1 3 16, 900 16,800 = A 0.6
HEG) —22 TABERT 81 7 2 93K 1 9, 500 9,400 A 1.1
HEG)  —23 KRABTER PR 4 0 03 18, 900 18,700 A 1.1
HEGR) —24 RAEMTHFEEF FRES L 1 2 5 93 1 1 217, 300 27,000 A 1.1
HEUR) —25 JIETHE 3 9 1 3% 25, 600 25,400 A 0.8
HE) —26 EJIAT FIERS BRI 7 3 0% 2 23, 000 22,600 A 1.7
HEG) —27 E)IMTEIL1 55 5%6 3 24, 500 24,400 A 0.4
HEM) 5—1 BREERT2 TH 1% 1 67, 600 67,100 A 0.7
HE) 5—2 JERGRT 1 05 5% 1 75, 000 75, 000 0.0
e 5 —3 OIS THS O DaifHaT 3 49, 100 47,700 A 2.9
HEL) 5—4 EHETE )2 2 4 8% 24t 40, 000 38,800 A 3.0
HEU) 5-5 PEHBTSOR T 1 5 8 6% 3 4 9, 400 9,200 A 2.1
HEGR) 5 -6 ST 258 7T 6% 2 1 15, 500 15,300 A 1.3
HEUW) 57 AFFERT A1 2 1 3352 32, 600 31,900 A 2.1
HEM) 5 -8 ﬁﬁmﬁ%@iﬁﬁm 1364%11 49, 000 50, 400 2.9
HEUW) 5—9 AEJIMTEIT4 8 3 1% 2 32, 400 31, 800 1.9
HEOD 5—10 ZEJIBTHEE 3 8 4 9% 28, 600 28, 300 1.0
HE) 5—11 REEFA 2 TH 4% 34+ 46, 500 46, 000 1.1




B E B BEMORERORERCI RS | G ISR S
HEM) 9—1 REAT5 1 6 %4 14+ 7,800 7,500 A 3.8
HEUD) 9—2 Wi F— /4 7 7%S5 1 15, 300 15,100 A 1.3
HE) 9—3 ZAEIT A M9 0 8% 1 7,900 7,700 A 2.5
HE) 9—4 HHERT 5 % 1 4k 18, 000 17,500 A 2.8
HEU) 9—-5 EJIMTIER 3 1 6 7% 84+ 10, 200 10,000 A 2.0
WmE () —1 T OHETA 3 3 3% 5 45,900 44,100 A 3.9
WHOL —2 ?TTD628%26 RT3 5 -2 33,100 31,800 A 3.9
wHOR) —3 ‘?%11‘Jﬁ4’1009% L -2 36, 800 36,100 A 1.9
wH () —4 TARMET7 0 5% 2 2 30, 500 29,700 A 2.6
WwHOR) —5 Zig\;fjﬁ” 683%80 [HAFMS4— 217, 500 26,800 A 2.5
wH() —6 HEHEETS 173 144 35, 000 34,000 A 2.9
wmEO) -7 FAHETIUAA 2 1 83 2 6, 500 6,400 A 1.5
() —8 EHETAE S 8 9% 1 6, 700 6,550 A 2.2
WHO)  —9 EHETFH) 2 6 8 8% 4 4, 600 4,500 A 2.2
(%) —10 PERETE)IA 4 0 27 1 4+ 2,100 2,050 A 2.4
R —11 VERLHETIE) A 2 6 7 1,900 1,850 A 2.6
() 5 —1 HIFIFORMT1 5% 2 6 61, 600 58,700 A 4.7
A (R) 5 —2 EHITHERE 1 8 0 0 & 44+ 8, 700 8,650 A 0.6
e (F) 5 —3 PESRETIER A 12 6 8% 6 6, 150 6,000 A 2.4
A (R) 5 —4 Zf\ﬁ'ﬂ” 618%1 MHFM42-1 37, 500 36,300 A 3.2
WHE) 9—1 é%zg%gé}28%133 s 27, 300 26,700 | A 2.2
KEUER) —1 ?Eﬁkmmkm?m/ﬁﬁ’r 27 6% 32, 300 31,600 A 2.2
KEGR) —2 KHEITRASS /lin 8 1 8% 4 23, 700 22,800 A 3.8
KE () —3 RHETRHFEREET N2 8 2% 25, 400 24,500 A 3.5
KHEIR) —4 RARRATFEMSF2 33371 8 25, 200 24,500 A 2.8
KER) —5 KHEBTRET =R 111 2% 74+ 28, 500 27,800 A 2.5
KHEE) —6 KHEBTRAS /e 3 2 8% 4 24, 100 23,200 A 3.7
KE) —7 SRR/ NEFIE ) AL 4 181 1 20, 200 19,800 A 2.0
KHE () —8 R 58T 1 5 0 8% 16, 900 16,500 A 2.4
KEW) —9 {CFERT G /61 736K 2 0 9, 300 9,100 A 2.2
KH () 5—1 KHEITKHFMHHEZ 9 4 07 84+ 41,000 39,000 A 4.9




B E B BEMORERORERCI RS | G ISR S
KHEIR) 5—2 BT 5 #iE4 3 154 0 20, 400 20,000 A 2.0
KH(F) 5—3 RABTRAFTIEA 5 4 8% 3 38, 500 37,500 A 2.6
KHE () 9—1 SHMTSE413%15 5, 500 5400 A 1.8
zRU)  —1 LRSI F 1 74 8% 1 29, 300 28,800 A 1.7
k() —2 BIFHAETTA 17 133 3 28, 300 27,100 A 4.2
ZHR(R) —3 AARRTREE 1 8 7% 19, 200 18,800 A 2.1
k() —4 HEATEATIE Y 3 3 23 23, 000 22,500 A 2.2
ZHRR) —5 AKET AR 9 5 3% 8, 300 8,100 A 2.4
LR —6 JEMERT AW S 6 2 % 3 18, 500 18,000 A 2.7
wHRR) —7 JRFERTARE 1 6 6 7S 9, 200 8,900 A 3.3
Lk () —8 ARHTZH 1 25 0% 9 14, 600 14,200 A 2.7
ZHRUL)  —9 HEERT)I P 4 9 15 7 18, 500 18,000 A 2.7
Lk () —10 PEARET R 5 4351 3 19, 500 19,200 A 1.5
7R () 5 —1 LRI TANELT 18 2% 1 74+ 46, 000 44,200 A 3.9
Lok () 9 — 1 MBI 114%13 15, 100 14,900 A 1.3
(R —1 JLHETARIET 1T 2 1 8% 18, 800 18,500 A 1.6
(R —2 BATHTAER 1 97 1% 7 10, 600 10,500 A 0.9
(R —3 T2 451%3 3 15, 900 15,500 A 2.5
(R —4 HAETA1322%1 8 25, 300 25,000 A 1.2
() —5 HRTFEMT 2 3 3 27 2 25, 400 25,300 A 0.4
T (R) —6 EFMT3 5 3%20 16, 100 15,800 A 1.9
() —7 BATHT)IE 1 43 14+ 14, 000 13,800 A 1.4
JTHE () 5 — 1 HAETA 1 22 1%34 52, 800 51,400 A 2.7
TTHE(B) 9 — 1 HREFEERT 2 30 7% 1 94 8, 700 8,600 A 1.1
Er() —1 ERTHRHITRIL 09 0% 6 19, 300 19,100 A 1.0
Ep(R) —2 HERT AR 2 7 9% 6 5, 500 5400 A 1.8
Er() —3 KT HRBTIE 3 8 7% 8, 000 7,900 A 1.3
Ep(R) —4 NIRRT 10 1 131 20, 700 20,100 A 2.9
E) —5 SR IRA 1 4 07 3 14, 000 13,600 A 2.9
Ep() —6 BAMTHAS27%1 9 7, 250 7,100 A 2.1
E () —7 AR 4 4 1% 22, 600 22,200 A 1.8




QTR LR VEAM

284F FEAR VEA

LB

B M ® S BEMOPTE LK CHIE I N R R R ¥ (0o K (9 m) (%)
E() —8 ARITFEAE 16 4% 1 1 13, 700 13,600 A 0.7
EU) —9 ARKETTFRER 1 21 0% 1 29, 500 29,300 A 0.7
L () —10 =JIRMT# T 8 5 8 & 54t 14, 400 14,200 A 1.4
E () —11 BATHA2190% 1 10, 500 10,300 A 1.9
Em () —12 —JJBHT =T 9 5 6% 3 19, 500 19,100 A 2.1
Epg () —13 SJJEAT=J]E1230%5 8 22, 000 22, 000 0.0
L () —14 EHITEHTFI2 70 4%7 7,100 7,000 A 1.4
L) —15 & AR RS 5 0 % 2, 950 2,900 A 1.7
Em () 5—1 ARIRETAIR 4 6 87 6 31, 000 29,700 @ A 4.2
Emg () 5—2 =JJRET=J)R 3 5% 2 4t 38, 900 38,300 A 1.5
Er() 5—-3 HAEMTHEHA2150%6 6 12, 800 12,500 A 2.3
L) 9—1 ARKHETHET 109 3% 1 0 44+ 19, 700 19,400 A 1.5
BHEG) —1 (CEEEHERTTAM3 4 5% 1 11, 600 11,400 A 1.7
BHEG) —2 =Zk710%4 18, 800 18,400 A 2.1
HIHEW) —3 #m1556% 8, 400 8,350 A 0.6
WHEGR) —4  B{H6 8 4% 14+ 15, 800 15,500 A 1.9
BHEW)S5 -1 —k265% 24, 500 24,100 A 1.6
WHEGR) 5 —2 B{H 104 3%24 25, 000 24,400 A 2.4
BHEM) 9—1 —R1955%64 3,900 3,800 A 2.6
fRE () — 1 FRARBERE R 1 6 0 8% 2 9,900 9,700 A 2.0
firg () —2 EHE2201%20 9,200 9,000 A 2.2
i () —3 BA5 8% 5,600 5500 A 1.8
g () —4 B 100 8% 1 5,500 5400 A 1.8
i () —5 41 24%3 7,450 7,300 A 2.0
firg (B —6 THR#41344%3 3, 850 3,800 A 1.3
e (B 5 — 1 MEHHE2079%7 15, 500 15,100 A 2.6
fijrE () 5 — 2 FR41663%2 12, 200 11,900 A 2.5
AW —1 EERRIIARTRF)IAL 1 4 73%3 7,600 7,200 A 5.3
ARG —2 KRFNA427F15 17, 000 16,000 A 5.9
A —3 KRFAF3 5 1% 34+ 9, 200 8,800 A 4.3
EMAR) —1 SEYBHTIRIR 6 5% 1 6, 700 6,550 A 2.2




B E B BEMORERORERCI RS | G ISR S
EMAR) —2 w2 7 7% 10, 300 9,900 A 3.9
EWUBH —3 HEIT5 2% 4 3, 500 3,400 A 2.9
EMUE) —4 HEAS3 9 7% 14 4, 650 4,500 A 3.2
FER ) 5 —1 FIH1 7 7% 10 15, 800 15,100 A 4.4
gl —1 EFFHTRZEAR 1 4 7% 3 4, 800 4,700 A 2.1
BRUD) —2 B2 41 3% 1 5, 300 5200 A 1.9
gl —3 mR403%F1 4, 200 4,100 A 2.4
BRUD —4 A1 944% 4, 800 4,700 A 2.1
gl —5 THT258%S8 5,950 5,700 A 4.2
B0 —6 KE1089%3 5,100 5000 A 2.0
() —7 HE3220%2 3,900 3,800 A 2.6
B 5—1 TH¥P554%3 5, 600 5500 A 1.8
Erg () 5 — 2 H 4 8% 2 0 6,000 EER
Erg () 5 — 3 K4 2 %5 7,000 6,900 A 1.4
Erg(R) 9 — 1 THAT93&E1 4, 500 4,400 A 2.2
HREFOR) — 1 EERNEMERSFH 8 FN 1 18, 100 17,500 A 3.3
R () —2 e 8 134+ 28, 400 27,500 @ A 3.2
g (R) —3 #HHEE507FH 31, 000 30,200 A 2.6
R (R —4 B9 74%F47 16, 100 15,900 A 1.2
B () —5 FHHT7T90%1 12, 400 12,300 A 0.8
HEFNEF () —6 A9 90%?2 4, 350 4,250 A 2.3
FEFEF () 5—1  HTHEA 11 7% 34+ 33,300 32,400 A 2.7
Hefngr ()5 -2 HF226%F 1 0 20,500 EEHE
HE0) -1 EEETHIAAFIAS 6 73 6 0 9,900 BER
HEU) —2 FiAKRHIA 2 2 37 2 7, 400 7,200 A 2.7
HEUY) -3 NAN8 7 2% 15, 600 14,900 A 4.5
HEUL) —4 tAH6 2 6% 0 9,800 EERF
HEUY) -5 SN2 9 9% 5 10, 000 9,750 A 2.5
FHE) 5 -1 NHH 7 8 5%&S 21, 000 20,000 A 4.8
) —1 R AR EET R+ 1 08 9% 1 0 9, 900 9,700 A 2.0
R —2 K716 7 1% 5, 000 4,900 A 2.0
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LB

B M ® S BEMOPTE LK CHIE I N R R R ¥ (0o K (9 m) (%)
(k) —3 REF5H2043%4 5, 500 5400 A 1.8
gt () 5 —1 KRFMEIH9 6 7TH 20, 200 19,700 A 2.5
(R — 1 P BETRGHHR TR 27 4 7% 1 18, 000 17,400 A 3.3
R —2  RFEEHFRE299F1 15, 300 14,700 A 3.9
RO —3  KRFHINFEIM6 631 19, 800 19,100 A 3.5
P ) 56— 1 RTINS 5 15F 1 36, 500 35,000 A 4.1
mkdR) —1 HRMFARYE2 27 43 4, 400 4,300 A 2.3
AR (R) 5 —1 FRE1014%2 9, 000 8,800 A 2.2
Bl (1) — 1 B BT RS AT S 57 1 15, 400 15,200 A 1.3
Pl D 5 () — 2 IRREL 2 5 73 2 6, 350 6,300 A 0.8
PR () — 3 KA1 1 0% 24, 900 24,300 A 2.4
fRi o () —4 Ml T2 1 3% 2 11, 700 11,300 A 3.4
iR (R —5 #BEENIE2 3 4 8% 74+ 12, 500 12,300 A 1.6
PRl D 5 () — 6 L HKE 30 6% 1 9, 600 9,550 A 0.5
fRlz oD 5 (JL) 5 — 1 HETHEON 2 83 1 54, 000 51,900 A 3.9




